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Formulae sheet — Foundation Tier

Area of trapezium = %(a + b)h
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b

Volume of prism = area of cross section x length

Cross
section

length

Volume of cylinder = zr*h

Curved surface area of cylinder = 2zrh

B
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Answer ALL TWENTY SEVEN questions.
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Write your answers in the spaces provided.
You must write down all the stages in your working.

1 Here are four cards.
Each card has a number written on it.

These four cards are arranged to make the number 3457
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(@) Arrange the four cards to make the largest possible even number.
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Darren arranges the cards to make another number.
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The difference between the number 3600 and the number that Darren makes is as small
as possible.

(b) Find this difference.
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(Total for Question 1 is 3 marks)
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2 Here is a 5-sided polygon.

(@) Write down the mathematical name for a 5-sided polygon.

(b) On the diagram, mark with a letter A an acute angle.

(c) On the diagram, mark with a letter R a reflex angle.

1)

1)

(Total for Question 2 is 3 marks)
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3 The pictogram shows information about the number of loaves of bread sold in a bakery
each day from Tuesday to Friday last week.
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Key: represents 6 loaves of bread
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(a) How many loaves of bread were sold on Friday?

The total number of loaves sold in the bakery from Monday to Friday last week was 66

(b) (i) Work out the number of loaves sold on Monday last week.
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(i) Show this information for Monday on the pictogram.
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(Total for Question 3 is 4 marks)
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4 (a) Write 0.7 as a fraction.
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(Total for Question 4 is 4 marks)
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5 The diagram shows the trapezium ABCD
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(a) How many lines of symmetry has ABCD?
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(b) Write down the order of rotational symmetry of this shape.
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(c) Find, by measuring, the size of the angle marked x
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(Total for Question 5 is 3 marks)
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6 Here is a list of seven numbers.
5 16 23 27 50 160 240

(@) From the numbers in the list, write down

(i) acube number

(it) a factor of 80
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(b) Work out the sum of these two prime numbers.
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7 The three points A, B and C are marked on a centimetre grid.
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(@) Write down the coordinates of A

(b) Find the coordinates of the midpoint of BC
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(c) Work out the area of triangle ABC
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D is the point on the grid so that ABCD is a rectangle.

(d) On the grid, mark with a cross (X) the point D
Label this point D
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8 Masie is told that 13203 = 27 = 489

Explain how she can use this calculation to work out 489 x 28

(Total for Question 8 is 2 marks)

9 (a) Simplify 6p+2t+p-3t

A =8x-3y

(b) Work out the value of Awhen x=5 and y=4

(Total for Question 9 is 4 marks)
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In the diagram, BCE is a right-angled triangle.
ABCD, BEF and GCEH are straight lines.
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(@) (i) Find the value of x

(if) Give a reason for your answer.
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(b) (i) Work out the value of y
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(Total for Question 10 is 5 marks)
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11 Sophia spends a total of £6.30 on cheese.
She buys 500¢g of Cheddar cheese and 200g of Stilton cheese.
The cost of the Cheddar cheese is £9.20 for 1kg.

o’
Q0L

Work out the cost of 1kg of the Stilton cheese. Sl

66
oot
L ESE
ot KW
RILRREILAIKL

o %
X3
e
3 ned
R
T
S

Q
3
L
AL
5

5
o
X
%o
S0t

KRR IHR

”
b

%

KERRLEARLKEARRLEK

S

s
BRI,
oo oot e tetetotetetetotetete!

<>
s%’
5L
2
K,

<

<
58
K

é'
SRR

0 0.0.%%
XK
AL
:???\
<Y
s

(0090008,
%

0 00
XK
X
>

19000000,
SRR

RS
00%’ %

K
G
oot etaletotetetetel

3

ool
0%
SRR

<
$56%6%%
%
<
SREKL

(Total for Question 11 is 4 marks)

SR8
RS

SRKK
ULRIK

12

P 6 8 7 8 8 A 0 1 2 2 8



PMT

( )

<

R
RSB
000

N
Sosesesed
QKKK
KK

%%
<

LR

%
SERRRKR

X

(>
002!
SN
8858
&3
K

X
OEEEKE,
XK
58
¢
X5

'
0%
%

12 The diagram below shows the trapezium PQRS
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13 Salma asked some people what type of exercise they each liked the best from walking

or running or swimming or cycling.

Salma is going to draw a pie chart for her results.

The incomplete table gives some information about her results.

Type of exercise | Number of people | Angle in pie chart

Walking 18

90°

Running

150°

Swimming

Cycling 15

18 people answered walking.

(a) How many people answered running?

15 people answered cycling.

(b) How many people answered swimming?

(Total for Question 13 is 5 marks)
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14 Jakub has bought a chicken.
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He is going to use this rule to work out the number of minutes it will take to cook his chicken.

Cooking time (minutes)

Multiply the chicken’s weight, in kg, by 40
Then add
30
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The weight of Jakub’s chicken is 2.6 kg

(@) Use the rule to work out the number of minutes it will take to cook Jakub’s chicken.
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....................................................... minutes

The following week Jakub buys another chicken.
He uses the rule and works out that it will take 2 hours 40 minutes to cook this chicken.

(b) Work out the weight of this chicken.
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(Total for Question 14 is 5 marks)
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15 Bella and Millie share some money in the ratio 5:2
Bella receives 10.50 euros more than Millie.

Work out the total amount of money they share.

....................................................... euros
(Total for Question 15 is 3 marks)
16 Work out the value of
152 x 4.1
8 —+/3.7
Write down all the figures on your calculator display.
(Total for Question 16 is 2 marks)
\ y,
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17 Here is a biased spinner.
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When the spinner is spun once, the probabilities that it lands on red or on yellow or on
green are given in the table.

Colour red yellow purple green
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(a) Work out the probability that the spinner lands on red or on yellow.
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(b) Work out an estimate for the number of times the spinner will land on purple.
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(Total for Question 17 is 4 marks)
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In a warehouse there are two types of shelves, type R and type S.
These two types of shelves are arranged into shelving units that form a sequence of patterns.

Here are the first three terms in the sequence.

Diagram NOT
accurately drawn

24m 3.5m

The width of each type R shelf is 2.4 m and the width of each type S shelf is 3.5m

(a) Work out the total width of a shelving unit that has 6 type R shelves.

A shelving unit has n type R shelves.
The total width of this shelving unit is W metres.

(b) Find an expression for W in terms of n
Give your answer in its simplest form.

(Total for Question 18 is 4 marks)
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19 Here are five cards.

%%
S

255
555

<K
<X
5

0%

o0
'

S
o

Each card has a number written on it.
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The mean of the five numbers is 12

Work out the value of x

%
X X
RS
QGRS
RS

K

SIS
<5

<R

5
boses
XXX

KL

oooteds
batet

¢
X
5
L5

%3?
BEE5

<
S
bose%s

X8
2
5

0
0559
KR
<o
oo
K5

<
S
bose%s

X8
29

QOO
SRELRS
X
<50
555
tttete?

<

otetete%s

RS

e e
SRS
585

¢
RES
X
ALK
oo
ek
oo%e%

RS

L

X

0”"‘»’.’\"’
<

&%%%%%%&

SRR,
GBI

O
SRS
ototelodeteds

o
50
00%%00.9:%

5
25

So%ss

5
GIIBELE

CRLLRRLZRIRRKRK,

2%

XS
g%

otegelsss
5

<5

%
¢S
2K

6K
230500030
Sodetetetele!
2L
258

KRS
RXR
B!
LK

K

<
o

%%
%
QIERKS
%% .‘0’0’
R
<
%

%
<

55
R

(Total for Question 19 is 3 marks)
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20 The language department of a college has 180 students.
Each student studies exactly one of French, German, Italian or Spanish.
15 students study French.
45% of the students study German.
Express the percentage of students studying Italian or Spanish as a percentage of those
studying French or German.

(Total for Question 20 is 4 marks)
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21 (a) Expand 3c’(c + 4)

(b) (i) Factorise x°+8x -9

(i) Hence, solve x*+8x-9=0

1)

(Total for Question 21 is 5 marks)
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22 Show that
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(Total for Question 22 is 3 marks)
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23 The diagram shows a solid cylinder made from iron.
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The cylinder has diameter 18 cm and height 3.5cm
The mass of the cylinder is 7.04 kg

5
5
QRS
REGREES
KR,
R

Work out the density of the iron.
Give your answer in g/cm? correct to 2 significant figures.
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(Total for Question 23 is 3 marks)
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24 Jane bought a new car for $18 000 S
The car depreciates in value by 15% each year.

Work out the value of the car at the end of 4 years.
Give your answer correct to the nearest $
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(Total for Question 24 is 3 marks)
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26 Line L is drawn on the grid.
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Find an equation for L
Give your answer in the form y =mx + ¢

IR LRRKLR,
SSELRRKESS

%
CRIIIEARIKIHRK

<
g&‘\OQ'
o0 J
2

5%

CERREHAR

KL ’o

%
X

S8
IR
X

2%
XS
o

AR
SR ARKLK

0>
RS
0%l
%!
SR
s
RRRIELRLLRRIERS

(X
5K
XY
0SS
%
<
K

000
53R
BB
SRS
5K
KRR
85

%
<

06
KKK
XX

5

5555
55

25
K
poseds

5
L R
S
%

05
RRELRLS
<5

<X

A
QUL LKLIES
S

XX
VT

pote
e
SRXLS N
SXRXILS IS SAN
e aessies

(Total for Question 26 is 3 marks)

%
doSete!
delelele!

s

o2}
o todeteds

KL
KKK

LKL
RS,
ZRLRRLRKLLS

bove!

LRKLHEK

ORIICIRIHK

5

5>
oo
80908
5
p0lelel
2%’

. J
25

VD 00 OO R 0 —
Turn over »
P 6 8 7 8 8 A 0 2 5 2 8 urnove

%
0%

o%

X2




r

27 The diagram shows a quadrilateral ABCD

B 6cm C

In the diagram, ABC and DAC are right-angled triangles.
BC =6cm AC=7.5cm

The area of quadrilateral ABCD is 31.5cm’

Work out the length of AD

Diagram NOT
accurately drawn
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